

Exact Estimates for Monotone Interpolation

G. L. ILIEV

*Institute of Mathematics and Mechanics, Bulgarian Academy of Sciences,
1080 Sofia, P.O. Box 373, Bulgaria*

Communicated by G. G. Lorentz

Received April 25, 1978

Let $0 = x_0 < x_1 < \dots < x_n = 1$, $0 = y_0 < y_1 < \dots < y_n \leq 1$ and let A, B, C be defined by (3); suppose further that $C \geq c_0 n^{-1}$. We prove that for some constant $c = c(c_0)$, depending only on c_0 , there exists an algebraic polynomial P of degree $\leq cn \ln(e + A/B)$ for which $P(x_i) = y_i$, $i = 1, \dots, n$, and $P'(x) \geq 0$, $0 \leq x \leq 1$.

1. INTRODUCTION

Let $0 = x_0 < \dots < x_n = 1$ and let y_0, y_1, \dots, y_n be real numbers satisfying $y_{i-1} \neq y_i$, $i = 1, 2, \dots, n$. Under these assumptions Wolibner [1], Kammerer [2] and Young [3] proved the existence of an algebraic polynomial P such that

$$(1) \quad P(x_i) = y_i, \quad i = 0, 1, \dots, n,$$

(2) $P(x)$ is monotone decreasing on $[x_{i-1}, x_i]$ if $y_{i-1} > y_i$ and monotone increasing on $[x_{i-1}, x_i]$ if $y_{i-1} < y_i$, $i = 1, \dots, n$.

P is called a partially monotone interpolation polynomial. When $y_{i-1} < y_i$ for $i = 1, \dots, n$, it is called a monotone interpolation polynomial.

The papers [1-3] do not contain estimations on the degree of the polynomial P . Later on, in [4-6], such estimations were given in terms of n and of

$$A = \max_{1 \leq i \leq n} \Delta y_i = \max_{1 \leq i \leq n} (y_i - y_{i-1}), \quad B = \min_{1 \leq i \leq n} \Delta y_i, \quad (3)$$

$$C = \min_{1 \leq i \leq n} \Delta x_i$$

In [4] a monotone approximation polynomial is constructed of degree not exceeding $c_1 n A/B$, where c_1 is an absolute constant. This estimate is exact when A/B is bounded for every n by an absolute constant. However, if this is not so, this estimate leads to a rather high degree of the monotone interpolation polynomial.

In [5] the result of [4] is generalized and in [6] an estimate for the degree of P was given which is exact in the particular case when $A/B \asymp n^\alpha$, $\alpha \geq 1$. In this case it is proved that there exists a monotone interpolation polynomial of a degree not exceeding $c_2 \alpha n \ln n$, where c_2 is an absolute constant.

In [7] an estimate similar to the one in [6] was found for the case $y_0 > y_1 > \dots > y_p > y_{p+1} < \dots < y_n$ and the interpolation is done by a polynomial P with $P'(x) \leq 0$ for $x \in [x_0, x_p]$, $P'(x) \geq 0$ for $x \in [x_p, x_n]$.

Together with the results about monotone and partially monotone interpolation, other results have appeared on monotone and partially monotone approximation.

Initially the problem of uniform approximation of monotone functions by monotone polynomials was considered. A basic result, achieved later in [8], is that the order by which a monotone function can be approximated by a monotone polynomial from H_n is $O(\omega(f; n^{-1}))$. Here H_n is the set of all algebraic polynomials of degree $\leq n$, and $\omega(f; \delta)$ is the modulus of continuity of f : $\omega(f; \delta) = \sup_{|x' - x''| \leq \delta} |f(x') - f(x'')|$. This result is remarkable since, although an additional condition is imposed on the approximating polynomial, it preserves the exact order of approximation of the well-known Jackson theorem.

The problem of partially monotone uniform approximation can be formulated as follows: A function f is given which is monotone in every one of a finite number of subintervals, changing from increasing to decreasing or vice versa exactly at the ends of the subintervals. What is the order of approximation of f by polynomials from H_n , the set of those algebraic polynomials of degree $\leq n$ with the same monotonicity pattern as f ?

This problem has been studied in [9–13]. In [13] it is shown that the exact order of partial monotone approximation is again $O(\omega(f; n^{-1}))$.

In the present paper we shall relate the above-mentioned problems on monotone interpolation and approximation to the following theorem giving an exact answer to the question on the degree of monotone interpolation polynomials for arbitrary knots and monotone interpolation data.

THEOREM 1. *Let the points x_i, y_i satisfy $0 = x_0 < x_1 < \dots < x_n \leq 1$, $0 = y_0 < y_1 < \dots < y_n \leq 1$, let A, B, C be given by (3) and let $C \geq c_0 n^{-1}$, where c_0 is a constant. Then there exists a polynomial Q of degree $\leq cn \ln(e + A/B)$, which satisfies*

$$Q(x_i) = y_i, \quad i = 1, \dots, n; \quad Q'(x) \geq 0 \quad \text{for } x \in [0, 1].$$

Here $c = c(c_0)$ is a constant depending only on c_0 .

We also have

THEOREM 2. *Let the points x_i, y_i satisfy $0 = x_0 < \dots < x_k = 1/2 <$*

$x_{k+1} < x_n \leq 1, 1 \geq y_0 > \dots > y_k = 0, 0 < y_{k+1} < \dots < y_n \leq 1$. If $A' = \max_{1 \leq i \leq n} |\Delta y_i|, B' = \min_{1 \leq i \leq n} |\Delta y_i|$ and $C' = \min_{1 \leq i \leq n} \Delta x_i \geq c'_0 n^{-1}$, then there exists an algebraic polynomial T of degree $\leq c'n \ln(e + A'/B')$ (c' depending only on c'_0) for which $T(x_i) = y_i, 0 \leq i \leq n; T'(x) \leq 0$ for $x \in [0, \frac{1}{2}]$ and $T'(x) \geq 0$ for $x \in [\frac{1}{2}, 1]$.

2. THE MAIN THEOREM

LEMMA 1. If the constants b_i, ϵ_{ij} satisfy $b_i > 0, i = 1, \dots, n$, and

$$\max_{1 \leq i \leq n} \sum_{j=1}^n |\epsilon_{ij}| (A + B)/B \leq M,$$

where $A = \max_{1 \leq i \leq n} b_i, B = \min_{1 \leq i \leq n} b_i$, then the linear system

$$\begin{bmatrix} M + \epsilon_{11} & \epsilon_{12} & \dots & \epsilon_{1n} \\ \epsilon_{21} & M + \epsilon_{22} & \dots & \epsilon_{2n} \\ \vdots & \vdots & \ddots & \vdots \\ \epsilon_{n1} & \epsilon_{n2} & \dots & M + \epsilon_{nn} \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \\ \vdots \\ x_n \end{bmatrix} = \begin{bmatrix} b_1 \\ b_2 \\ \vdots \\ b_n \end{bmatrix}$$

has a unique positive solution (see [6] where this theorem is given in a slightly different form).

Proof. Since the system has a dominating main diagonal, it has a unique solution. Let $|x_l| = \max_{1 \leq i \leq n} |x_i|$. Then the l th equation assumes the form $Mx_l + \sum_{j=1}^n \epsilon_{lj}x_j = b_l$. So

$$M|x_l| = \left| b_l - \sum_{j=1}^n \epsilon_{lj}x_j \right| \leq |b_l| + |x_l| \sum_{j=1}^n |\epsilon_{lj}|,$$

and therefore

$$|x_l| \leq A / \left(M - \sum_{j=1}^n |\epsilon_{lj}| \right) \leq A / \left(M - \max_{1 \leq i \leq n} \sum_{j=1}^n |\epsilon_{ij}| \right).$$

Now we show that the solution of the system is positive. Denote $x_k = \min_{1 \leq i \leq n} x_i$ and consider the k th equation. We obtain

$$\begin{aligned} Mx_k &= b_k - \sum_{j=1}^n \epsilon_{kj}x_j \geq b_k - |x_l| \sum_{j=1}^n |\epsilon_{kj}| \\ &\geq B - \left[A / \left(M - \max_{1 \leq i \leq n} \sum_{j=1}^n |\epsilon_{ij}| \right) \right] \left(\max_{1 \leq i \leq n} \sum_{j=1}^n |\epsilon_{ij}| \right) > 0. \end{aligned}$$

The last inequality follows from the assumption.

Now let us carry out some preliminary calculations aimed at establishing Lemma 3 below, basic for the proof of Theorem 1.

Let m and r be natural numbers,

$$\begin{aligned}\sigma^T(x) &= 0, & x \in [-\pi, -\pi/2), \\ &= 1, & x \in [-\pi/2, \pi/2], \\ &= 0, & x \in (\pi/2, \pi];\end{aligned}$$

and

$$U_{m,r}(\sigma^T; x) = \mu \int_{-\pi}^{\pi} \sigma^T(x+t) \left(\frac{\sin(mt/2)}{m \sin(t/2)} \right)^{2r} dt,$$

where μ is defined by the condition

$$\mu \int_{-\pi}^{\pi} \left(\frac{\sin(mt/2)}{m \sin(t/2)} \right)^{2r} dt = 1. \quad (4)$$

The operator $U_{m,r}$ (see, e.g., [14, 15]) is called a generalized Jackson operator. It is known [15] that $U_{m,r}(\sigma^T; x)$ is a trigonometric polynomial of order $(m-1)r$.

From (4) it follows easily (see [15]) that

$$\mu \leq \frac{m}{2\pi} \left(\frac{\pi}{2} \right)^{2r}. \quad (5)$$

DEFINITION. A 2π -periodic function $f \in C[-\pi, \pi]$ is called bell-shaped if it is even and nondecreasing for $x \in [-\pi, 0]$.

In [16] it is proved that a generalized Jackson operator applied to bell-shaped step functions with jumps at the points $k\pi/m$, $k = 1, \dots, m-1$ yields, again, a bell-shaped function. The technique of this proof is similar to that in [8].

Since $\sigma^T(x)$ is a bell-shaped step function with jump at the point $\pi/2$ if m is even, $U_{m,r}$ is, in that case, also bell-shaped. In what follows we shall suppose m is even.

Since

$$U_{m,r}(\sigma^T; x) = \mu \int_0^{\pi} \left(\frac{\sin(mt/2)}{m \sin(t/2)} \right)^{2r} (\sigma^T(x+t) - \sigma^T(x-t)) dt, \quad (6)$$

(4) yields

$$\begin{aligned}U_{m,r}(\sigma^T; x) - \sigma^T(x) \\ = \mu \int_0^{\pi} \left(\frac{\sin(mt/2)}{m \sin(t/2)} \right)^{2r} (\sigma^T(x+t) - 2\sigma^T(x) + \sigma^T(x-t)) dt.\end{aligned}$$

Let $0 \leq \alpha < \beta \leq \pi$. Then

$$\begin{aligned}
 & \int_{\alpha}^{\beta} |U_{m,x}(\sigma^T; x) - \sigma^T(x)| dx \\
 &= \int_{\alpha}^{\beta} \left| \left[\mu \int_0^{\delta} \left(\frac{\sin(mt/2)}{m \sin(t/2)} \right)^{2r} (\sigma^T(x+t) - 2\sigma^T(x) + \sigma^T(x-t)) dt \right. \right. \\
 & \quad \left. \left. + \mu \int_{\delta}^{\pi} \left(\frac{\sin(mt/2)}{m \sin(t/2)} \right)^{2r} (\sigma^T(x+t) - 2\sigma^T(x) + \sigma^T(x-t)) dt \right] \right| dx \\
 &\leq \int_{\alpha}^{\beta} \omega(\sigma^T; x; \delta) dx + \mu \int_{\delta}^{\pi} \left(\frac{\sin(mt/2)}{m \sin(t/2)} \right)^{2r} \\
 & \quad \times \left\{ \int_{\alpha}^{\beta} [\sigma^T(x+t) - 2\sigma^T(x) + \sigma^T(x-t)] dx \right\} dt \\
 &\leq \int_{\alpha}^{\beta} \omega(\sigma^T; x; \delta) dx + 2\mu \int_{\delta}^{\pi} \left(\frac{\sin(mt/2)}{m \sin(t/2)} \right)^{2r} \omega_L(\sigma^T; t) dt, \tag{7}
 \end{aligned}$$

where $\omega(f; x; \delta)$ is the so-called local modulus of continuity of f ,

$$\omega(f; x; \delta) = \sup_{|h| \leq \delta} |f(x+h) - f(x)|. \tag{8}$$

The definition (8) can be found in [15].

$\omega_L(f; \delta)$ is the integral modulus of continuity of f in the interval $[-\pi, \pi]$,

$$\omega_L(f; \delta) = \sup_{0 < h \leq \delta} \int_{-\pi}^{\pi} |f(x+h) - f(x)| dx.$$

Let us estimate the second term in the last line of (7). It is easily seen that for each integrable function f , if $t/u \geq 1$, then

$$\omega_L(f; t) \leq (2t/u) \omega_L(f; u). \tag{9}$$

Also

$$\sin(t/2) \geq t/\pi \quad \text{for } 0 \leq t \leq \pi. \tag{10}$$

Using (9), (10) and (5), and setting $u = \delta$,

$$\frac{\pi^2 e}{2m} \leq \delta \leq \frac{\pi^2 e}{2(m-1)},$$

we obtain

$$\begin{aligned}
 2\mu \int_{\delta}^{\pi} \left(\frac{\sin(mt/2)}{m \sin(t/2)} \right)^{2r} \omega_L(\sigma^T; t) dt &\leq \frac{m}{\pi} \omega_L(\sigma^T; \delta) \left(\frac{\pi^2}{2m} \right)^{2r} \frac{\delta^{-2r+1}}{2r-2} \\
 &= \frac{\pi \cdot \omega_L(\sigma^T; \delta)}{2(2r-2)} \left(\frac{\pi^2}{2m\delta} \right)^{2r-1} \\
 &\leq \frac{\pi^3 e^{-2r+2}}{(2r-2)} \omega_L(\sigma^T; m^{-1}). \tag{11}
 \end{aligned}$$

From (7) and (11) we obtain

$$\begin{aligned}
 \int_{\alpha}^{\beta} |U_{m,r}(\sigma^T; x) - \sigma^T(x)| dx \\
 \leq \int_{\alpha}^{\beta} \omega(\sigma^T; x; \delta) dx + 2 \frac{\pi^3 e^{-2r+2}}{(2r-2)} \cdot \frac{1}{m}, \tag{12}
 \end{aligned}$$

since $\omega_L(\sigma^T; m^{-1}) = 2/m$.

Put now $\alpha = 0$, $\beta = (\pi/2) - \delta$. Then from (12):

$$\int_0^{(\pi/2)-\delta} |U_{m,r}(\sigma^T; x) - \sigma^T(x)| dx \leq \frac{\pi^3 e^{-2r+2}}{r-1} \cdot m^{-1}, \tag{13}$$

since $\omega(\sigma^T; x; \delta) = 0$ for $0 \leq x < (\pi/2) - \delta$.

Further, put in the integral (13) $x = \arccos y$. Then we obtain:

$$\begin{aligned}
 \int_{\delta}^1 |\sigma(y) - P(y)| dy &\leq \int_{\sin \delta}^1 |\sigma(y) - P(y)| dy \\
 &\leq \int_{\sin \delta}^1 \frac{|\sigma^T(\arccos y) - U_{m,r}(\arccos y)|}{(1-y^2)^{1/2}} dy \\
 &\leq \int_0^{(\pi/2)-\delta} |U_{m,r}(\sigma^T; x) - \sigma^T(x)| dx \\
 &\leq \frac{\pi^3 e^{-2r+2}}{r-1} \cdot m^{-1},
 \end{aligned}$$

where

$$\begin{aligned}
 \sigma(y) &= 0, & -1 \leq y \leq 0, \\
 &= 1, & 0 < y \leq 1,
 \end{aligned} \tag{14}$$

and $P(y) = U_{m,r}(\arccos y)$, an even algebraic polynomial of degree $\leq (m-1) \cdot r$.

P is monotone increasing in $[-1, 1]$ since $U_{m,r}(\sigma; x)$ is a bell-shaped trigonometric polynomial, by means of the transformation $x = \arccos y$ it is mapped into a monotone algebraic polynomial.

On the other hand, we can assume $0 \leq P(x) \leq 1$ for $x \in [-1, 1]$ since the operator $U_{m,r}(f; x)$ is positive and

$$\begin{aligned} 0 &\leq \sigma^T(x) \leq 1 && \text{for } x \in [-\pi, \pi], \\ 0 &\leq \sigma(x) \leq 1 && \text{for } x \in [-1, 1]. \end{aligned}$$

The above considerations and calculations yield

LEMMA 2. *Let σ be the function (14). For any positive integers m and r there exists a polynomial P , monotone in $[-1, 1]$ and of degree $\leq (m - 1)r$, for which*

$$\int_{\delta}^1 |\sigma(x) - P(x)| dx \leq de^{-r}m^{-1}, \tag{15}$$

$$\int_{-1}^{-\delta} |\sigma(x) - P(x)| dx \leq de^{-r}m^{-1}, \tag{16}$$

$$0 \leq P(x) \leq 1 \quad \text{for } x \in [-1, 1], \tag{17}$$

$$P(-x) = 1 - P(x) \quad \text{for } x \in [0, 1], \tag{18}$$

where d is an absolute constant and $\pi^2e/2m \leq \delta \leq \pi^2e/2(m - 1)$.

(18) is obtained easily; we omit its proof.

Proof of Theorem 1. Form the polynomial

$$Q(x) = \sum_{i=1}^n a_i P \left(x - \frac{x_i + x_{i-1}}{2} \right),$$

where P is the monotone polynomial from Lemma 2 of degree $\leq (m - 1)r$. (For the time being m and r are arbitrary positive integers.)

Choose the coefficients a_i in such a way that

$$Q(x_j) = y_j, \quad j = 1, \dots, n. \tag{19}$$

Write the system (19) in matrix form, as follows: namely,

$$\begin{bmatrix} 1 - \Delta_{1,1} & \Delta_{1,2} & \Delta_{1,3} & \cdots & \Delta_{1,n} \\ 1 - \Delta_{2,1} & 1 - \Delta_{2,2} & \Delta_{2,3} & \cdots & \Delta_{2,n} \\ \vdots & \vdots & \vdots & \ddots & \vdots \\ 1 - \Delta_{n,1} & 1 - \Delta_{n,2} & 1 - \Delta_{n,3} & \cdots & 1 - \Delta_{n,n} \end{bmatrix} \begin{bmatrix} a_1 \\ a_2 \\ \vdots \\ a_n \end{bmatrix} = \begin{bmatrix} y_1 \\ y_2 \\ \vdots \\ y_n \end{bmatrix}, \tag{20}$$

where the following notation has been used:

$$\begin{aligned}
 1 - \Delta_{1,1} &= P\left(x_1 - \frac{x_1 + x_0}{2}\right), & \Delta_{1,2} &= P\left(x_1 - \frac{x_2 + x_1}{2}\right), \dots, \\
 & & \Delta_{1,n} &= P\left(x_1 - \frac{x_n + x_{n-1}}{2}\right) \\
 & \dots & & \dots \\
 1 - \Delta_{n,1} &= P\left(x_n - \frac{x_1 + x_0}{2}\right), & 1 - \Delta_{n,2} &= P\left(x_n - \frac{x_2 + x_1}{2}\right), \dots, \\
 & & 1 - \Delta_{n,n} &= P\left(x_n - \frac{x_n + x_{n-1}}{2}\right). \quad (21)
 \end{aligned}$$

From (20), after a simple manipulation we get

$$\begin{aligned}
 & \left[\begin{array}{cccccc}
 1 - \Delta_{1,1} & \Delta_{1,2} & \Delta_{1,3} & \dots & \Delta_{1,n} \\
 -\Delta_{2,1} + \Delta_{1,1} & 1 - \Delta_{2,2} - \Delta_{1,3} & \Delta_{2,3} - \Delta_{1,3} & \dots & \Delta_{2,n} - \Delta_{1,n} \\
 -\Delta_{3,1} + \Delta_{2,1} & -\Delta_{3,2} + \Delta_{2,2} & 1 - \Delta_{3,3} - \Delta_{2,3} & \dots & \Delta_{3,n} - \Delta_{2,n} \\
 \dots & \dots & \dots & \dots & \dots \\
 -\Delta_{n,1} + \Delta_{n-1,1} & -\Delta_{n,2} + \Delta_{n-1,2} & -\Delta_{n,3} + \Delta_{n-1,3} & \dots & 1 - \Delta_{n,n} - \Delta_{n-1,n}
 \end{array} \right] \\
 & \times \begin{bmatrix} a_1 \\ a_2 \\ a_3 \\ \vdots \\ a_n \end{bmatrix} = \begin{bmatrix} \Delta y_1 \\ \Delta y_2 \\ \Delta y_3 \\ \vdots \\ \Delta y_n \end{bmatrix}. \quad (22)
 \end{aligned}$$

From Lemma 1 it follows that if

$$2 \max_{1 \leq i \leq n} \sum_{j=1}^n |\Delta_{i,j}| \frac{A + B}{B} < 1, \quad (23)$$

then the system (22) has a positive solution.

From (21), (18), (17), and the condition for monotony of the polynomial P we find

$$\begin{aligned}
 & \Delta_{i,1} \div \Delta_{i,2} + \dots + \Delta_{i,n} \\
 &= 1 - P\left(x_i - \frac{x_1 + x_0}{2}\right) + \dots + 1 - P\left(x_i - \frac{x_i + x_{i-1}}{2}\right) \\
 &\quad \div P\left(x_i - \frac{x_{i+1} + x_i}{2}\right) + \dots + P\left(x_i - \frac{x_n + x_{n-1}}{2}\right) \\
 &= P\left(\frac{x_1 + x_0 - x_i}{2}\right) + \dots + P\left(\frac{x_i + x_{i-1} - x_i}{2}\right) \\
 &\quad + P\left(x_i - \frac{x_{i+1} + x_i}{2}\right) + \dots + P\left(x_i - \frac{x_n + x_{n-1}}{2}\right) \\
 &\leq P(x_1 - x_i) + \dots + P(x_{i-1} - x_i) + P\left(\frac{x_i + x_{i-1}}{2} - x_i\right) \\
 &\quad + P\left(x_i - \frac{x_{i+1} + x_i}{2}\right) + P(x_i - x_{i+1}) + \dots + P(x_i - x_{n-1}).
 \end{aligned} \tag{24}$$

Let $x_1 - x_i = \xi_1$, $x_2 - x_i = \xi_2, \dots, x_{i-1} - x_i = \xi_{i-1}$, $(x_i + x_{i-1})/2 - x_i = \xi_i$, $[(x_i + x_{i-1})/2 - x_i]/2 = \xi_{i+1}$.

Then since $\min\{(\xi_2 - \xi_1), \dots, (\xi_i - \xi_{i-1}), (\xi_{i+1} - \xi_i)\} \geq \min_{1 \leq j \leq n} (x_j - x_{j-1})/4 \geq c_0 n^{-1}/4$,

$$\begin{aligned}
 & P(x_1 - x_i) + P(x_2 - x_i) + \dots + P(x_{i-1} - x_i) + P\left(\frac{x_i + x_{i-1}}{2} - x_i\right) \\
 &= P(\xi_1) \frac{\xi_2 - \xi_1}{\xi_2 - \xi_1} + \dots + P(\xi_{i-1}) \frac{\xi_i - \xi_{i-1}}{\xi_i - \xi_{i-1}} + P(\xi_i) \frac{\xi_{i+1} - \xi_i}{\xi_{i+1} - \xi_i} \\
 &\leq \frac{4}{\min_{1 \leq j \leq n} (x_j - x_{j-1})} [P(\xi_1)(\xi_2 - \xi_1) + \dots + P(\xi_{i-1})(\xi_i - \xi_{i-1}) \\
 &\quad + P(\xi_i)(\xi_{i+1} - \xi_i)] \\
 &\leq \frac{4n}{c_0} \int_{-1}^{-c_0/4n} [P(x) - \sigma(x)] dx
 \end{aligned} \tag{25}$$

and in the same way

$$\begin{aligned}
 & P(x_i - x_{n-1}) + \dots + P(x_i - x_{i+1}) + P\left(x_i - \frac{x_{i+1} + x_i}{2}\right) \\
 &\leq \frac{4n}{c_0} \int_{-1}^{-c_0/4n} [P(x) - \sigma(x)] dx.
 \end{aligned}$$

From (24), (25), and (26) we find

$$\max_{1 \leq i \leq n} \sum_{j=1}^n |\Delta_{i,j}| \leq \frac{8n}{c_0} \int_1^{-c_0/4n} [P(x) - \sigma(x)] dx.$$

Now we set $m = [2\pi^2 en/c_0] + 1$, $\delta = c_0/4n$. Then $\pi^2 e/2m \leq \delta = c_0/4n \leq \pi^2 e/2(m-1)$ and Lemma 2 gives:

$$2 \max_{1 \leq i \leq n} \sum_{j=1}^n |\Delta_{i,j}| \leq \frac{16n}{c_0} de^{-r} m^{-1} \leq d_1 e^{-r},$$

where d_1 is a constant depending only on c_0 .

There exists a constant d_2 depending only on c_0 (in a way which is clear from the above inequality and (23)), so that if $r = [d_2 \ln(e + A/B)]$, then

$$d_1 e^{-r} \cdot \frac{A+B}{B} < 1;$$

or, if $m = [2\pi^2 en/c_0] + 1$ and $r = [d_2(c_0) \ln(e + A/B)]$, then (23) holds and the system (20), hence the system (19), has a positive solution.

The interpolation polynomial $Q(x) = \sum_{i=1}^n a_i P(x - (x_i + x_{i-1})/2)$ will be monotone since P is monotone in $[-1, 1]$, and $a_i \geq 0$, $i = 1, \dots, n$. The degree of Q equals that of P , i.e., it equals $(m-1)$. $r \leq c[n \ln(e + A/B)]$, where c is a constant depending only on the constant c_0 .

Thus Theorem 1 is proved.

The estimate for the degree of the monotone interpolation polynomial: $cn \ln(e + A/B)$ of Theorem 1 yields the results of [4, 6]: For $A/B \leq \text{const.}$, the result in [4] is obtained and for $A/B \leq n^\alpha$, $\alpha \geq 1$, the result in [6].

Of interest are the cases where A/B lies between a constant and a constant times n^α , $\alpha \geq 1$. In all these cases Theorem 1 estimates the degree of the monotone interpolation polynomial. For example, if $A/B \leq \ln n$, the degree of the monotone interpolation polynomial is $\leq cn \ln \ln n$.

The exactness of the estimate of Theorem 1 follows from [4, 6] only if $A/B \leq \text{const.}$ or $A/B \leq n^\alpha$, $\alpha \geq 1$. However, it proved that Theorem 1 gives an exact answer to the question of the degree of the monotone interpolation polynomial for an arbitrary order of A/B . From Theorem 1 one can also easily obtain the result of Lorentz and Zeller [8].

From Theorem 2 one can prove the proposition in [13] but we do not consider this here since Theorem 2 is not proved in this paper.

From Theorem 1 it is also possible to obtain an estimate for the polynomial monotone approximation of a bounded monotone function with respect to the Hausdorff distance.

Hausdorff distance between functions was introduced by Sendov and Penkov [17]. Let f and g be functions, bounded in $[0, 1]$.

The number

$$r(f, g) = \max\{\sup_{A \in \bar{f}} \inf_{B \in \bar{g}} d(A, B), \sup_{A \in \bar{g}} \inf_{B \in \bar{f}} d(A, B)\},$$

where $d(A, B) = \max\{|a_1 - b_1|, |a_2 - b_2|\}$, $A = (a_1, a_2)$, $B = (b_1, b_2)$, and \bar{f} is the completed graph of the function f (the intersection of all closed point sets, bounded along the y -axis which are convex with respect to the y -axis, whose projection on the x -axis coincides with $[0, 1]$ and which contain the graph of f) is called the Hausdorff distance between f and g .

The number

$$E_n(f)_r = \inf_{P \in H_n} r(f, P)$$

is called the best approximation of f with respect to the Hausdorff distance.

A basic result in the theory of Hausdorff approximation is the following universal estimate obtained by Sendov [18]:

$$E_n(f)_r = O(\ln n/n).$$

From Theorem 1 it is easily obtained that the order of the above estimate is preserved when we approximate a monotone bounded function by a monotone polynomial with respect to the Hausdorff distance. This fact was proved for the first time in [16].

ACKNOWLEDGMENT

The author would like to express his deep gratitude to Prof. G. G. Lorentz for his valuable advice during the final preparation of the manuscript.

REFERENCES

1. W. WOLIBNER, Sur un polynôme d'interpolation, *Colloq. Math.* **2** (1951), 136–137.
2. W. KAMMERER, Polynomial approximation to finitely oscillating functions, *Math. Comp.* **15** (1961), 115–119.
3. S. YOUNG, Piecewise monotone interpolations, *Bull. Amer. Math. Soc.* **73** (1967), 642–643.
4. E. PASSOW AND L. RAYMON, The degree of Piecewise Monotone Interpolation, *Proc. Amer. Math. Soc.* **48**, No. 2 (1975), 409–412.
5. E. PASSOW, An improved estimate of the degree of monotone interpolation, *J. Approximation* **17** (1976), 115–118.

6. M. NIKOLČEVA, Monotone interpolation and its application to parametric approximation, *C. R. Acad. Bulgare Sci.* **29** (1976), 469–473 (in Russian).
7. G. ILIEV, Partially monotone interpolation, *Serdica* **4**, Nos. 2/3 (1978), 267–276.
8. G. LORENTZ AND K. ZELLER, Degree of approximation by monotone polynomials I, *J. Approximation Theory* **1** (1968), 501–504.
9. J. ROULIER, Nearby monotone approximation, *Proc. Amer. Math. Soc.* **47**, No. 1 (1975), 84–88.
10. D. NEWMAN, E. PASSOW, AND L. RAYMOND, Piecewise monotone polynomial approximation, *Trans. Amer. Math. Soc.* **172** (1972), 465–472.
11. E. PASSOW AND L. RAYMOND, Monotone and comonotone approximation, *Proc. Amer. Math. Soc.* **42**, No. 2 (1974), 390–394.
12. G. ILIEV, Exact estimations under the partially monotone approximation and interpolation, *Dokl. Bulg. Acad. Nauk* **30**, No. 4 (1977), 491–495.
13. G. ILIEV, Exact estimates for the partially monotone approximation, *Anal. Math.* **4** (1978), 181–197.
14. BL. SENDOV AND V. POPOV, On a generalisation of Jackson theorem, *J. Approximation Theory* **9** (1973), 102–111.
15. V. POPOV, Local approximation of functions, *Mat. Zametki* **17** (1975), 369–382 (in Russian).
16. BL. SENDOV AND V. POPOV, Approximation of monotone functions by monotone polynomials in Hausdorff metric, *Rev. Anal. Numér Théorie Approx.* **3**, No. 1 (1974), 79–88.
17. BL. SENDOV AND B. PENKOV, ϵ -entropy and ϵ -capacity of the space of continuous functions, *Izv. Mat. Inst. Bulg. Acad. Sci.* **6** (1962), 27–50 (in Bulgarian).
18. BL. SENDOV, Approximation of functions with algebraic polynomials with respect to a metric of Hausdorff type, *Ann. Univ. Sofia* **55** (1962), 1–39 (in Bulgarian).